
EE 230 —  HW 5.12           Name_________________________________________

For the circuit shown, calculate v2 three times: when 
v1 = 0.5 V, v1 = 2.5 V, and v1 = 5.0 V.

Both BJTs have βF = 100.  

v1 = 0.5 V: v2 = _______________________________

v1 = 2.5 V: v2 = _______________________________

v1 = 5 V: v2 = _______________________________ 

Put your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.

v1

VCC 10 V

RC1
2 kΩ

RB1

50 kΩ

RC2
1 kΩ

RB2

50 kΩ

v2


